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B oA (M) T % M # (M) HEBMMYEE (1)
YRR KA 24,048,360 22,267,000 (A) 1,781,360
AL U e i 24,721,200 22,890,000 (B) 1,831,200
MR AR 23,328,000 21,600,000 (C) 1,728,000
EHEASE 23,980,320 (F) 22,204,000 (D) 1,776,320 (E)
HEJRRA 652,320 604,000 48,320
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(D) + (E) = (F)




& MANEREEEEMNEhSETE No. 1
RETZEEAT HRETEER e
Ty : - s EE
"= g B B 2148 g B B o | EUEEE W
[EREZAR %
I| BETHE = 15,185,748 = 15,435,795 250,047 H4%A
II| EXEE LS Y 1,443,937 = 1,507,707 63,770 HE%H
I BhEk (s L X 483,710 =K 614,530 130,820 |#49%A
B TG 17,113,395 17,558,032 444,637 H4%E
Him gy
[| sk = 699,997 = 752,612 52,615 HEA%HE
II| HGEHE = 2,305,600 =Y 2,373,309 67,709 |H4%HE
— X B = 2,148,707 = 2,206,751 58,044 HA%HE
Fam 5,154,304 5,332,672 178,368 144
EFF 22,267,699 22,890,704 623,005  HE%E
XA RE (L FMm k) T A0 22,267,000 22,890,000 623,000 HA%H
TH B Bl S AH 24 %R 1,781,360 1,831,200 49,840 B4
wAE (LER) 24,048,360 24,721,200 672,840 HA%H




£ MW MANMNEREEREREMIETE No. 2
SEl R E A Ere =y
w = ¥ TRE| &g | &6 g mn o Bp | e | EOERE B3
I |BEIXR
AW E THF
1 |EBGE T (PR s ) 1 K 234,624 1 K 234,624 0
2 |@E T (EREwE) 1 K 119,190 1 3 191,203 72,013 Ha%H
3 |AE LE (MR =UE) 1 K 29,414 1 K 29,414 0
4 |EEE T (PR ERE) 1 K 347,838 1 3L 344,914 -2,924 | JkAE
5 [BEEE TF R = WE) 1 KX 522,412 1 K 610,044 87,632 HA%H
6 [PNEETE (BRI L) 1 K 858,042 1 3L 847,290 -10,752 J8FE
7 [Fofth TE (PR ESE) 1 KX 3,553,340 3,553,340 0
/NG 5,664,860 5,810,829 145,969 Hi%H
e EWE T
1 |EBGEE T8 (i 2 fs) 1 KX 336,782 1 K 336,782 0
2 | RILHEEE®E) 1 K 23,526 1 3 61,518 37,992 Ha%H
3 [EEIEEELE) 1 K 346,549 1 K 355,859 9,310 Ha%H
4 (S E T H (B R E) 1 K 6,841,800 1 3L 6,633,800 -208,000 | JEAA
5 |HIATH (BEE%E) 1 KX 165,144 1 K 165,144 0
6 [B%ETEHE (EAELE) 1 K 174,156 1 3 266,248 92,092 | H4%E
7 |NETEHEEELE) 1 KX 606,555 1 K 707,189 100,634  H#4%E
/NG 8,494,512 8,526,540 32,028 M4
k- oyt 1 K 1,026,376 1 K 1,098,426 72,050 Ha%H
Aldt 15,185,748 15,435,795 250,047 HA%H




No. 1

2 B MA NSRS EEEN S hRE TS R
R ERT R LR
% # i# g | HRTESW RS =5
HE Bm E @ & 2 E|nE Em 2 @ & &
BRRETE
1 |BR=EREIE 1 = 925, 404 1 = 989,174 63, 770
2 |BEEERTEEREIS 1 = 518, 533 1 = 518, 533 0
= B 1,443, 937 1,507, 707 63, 770




% B RA NI BB E R TS AR No. 2
DA EER DAL ER
% # 1 £3EEN B =
wE EE B (& gme w2y 2 @ 2 pe ;
EERETE
| |Eu=gEeTs
1) |BITEHREISE 1 = 561, 144 1 = 561, 144 0
2) aYvtEU bREISE 1 = 246, 788 1 = 246, 788 0
3 |memHBEIE s 10| 1 = 3170 0
4) |FEZEIE 1 = 29, 106 1 = 29, 106 0
5 |EHRZRIE 1 = 19, 268 1 = 19, 268 0
6) |TLEHAREREEIS 1 = 32,590 1 = 32,590 0
7)) |BEAMKIRAMBETISE 1 = 17, 400 1 EaW 81,170 63, 770 b=k |
8) |- AREEERETS s 15038 | 1 = 15. 938 0
& : 925, 404 989, 174 63,770  f2%E




No. 3

£ B MO R E s T R
BEHEER BHEER
% i # g | HEEAW i 3 mm
ME Bm B @ & 2 B|#E Bx 2 @ & @
BERBBIE

) |empmTRAREIS
1) |EEFAHEETSE 1 = 430, 871 1 = 430, 871 0
2) |BFIL - AREEEEREIS 1 = 87,662 1 = 87, 662 0
= B 518, 533 518, 533 0




28 A NMNEREEHRERZEMSREIS No. 2
RETEEAD RETEE®R .
T > — T = . 1&REE
& H B OE | ye my mm o4 | BB HE | HE g | ZORRE W
I |#WERIiELISE
1 A as Bk L9 1 =K 32,600 1 =X 32,600 0
2 |Fe/KE A L3 1 =X 91,870 1 =X 222,690 130,820 H4%H
3 |kaGEkln 15 1 =K 34,400 1 =X 34,400 0
4 |BEAKEE L3 1 =K 53,150 1 =X 53,150 0
5 | H AT 1 =X 259,290 1 =X 259,290 0
6 |t T 1 =K 12,400 1 = 12,400 0
/NG 483,710 614,530 130,820




